


thg a#me)

il
>
Hu
go
rlo
.
rlo

N SN

_2
3 >
/O T
DO y=2x+3 @ y=3x+2 @ y=4x+5

@ y=2x+6 ® y=2x+3



:—3x—|—3 o] I = x 9] 3ol 3
2 37kt

1-‘1—]_

=1
=]

=
[e)

7}

St
=

o, y

Wl N

94



WA x-3y+2 =09 Jfze}

4.

® y=-3x-2

@ y=3x+2



5.  AAFAA -2y +3x = -1 9] a7} (a,5) , (-3,b) 2 YERH ] uf,
a-b 9 7H&?

@D -1 ? 1 3 0 @ 7 B -7



O 7} (a, b) & W, a® + b* O] F27?

B 25

@ 928

B 32



x=10 -4y

2t o, ab



ol olFate] JF R} o] 22 2000 Y, oJFolE 1000 Yol
15000 ¥-& Wiz 12 5] %OWE} A, of 20| B I Fstoiet

B e 3



< A&# L7kl 1 AR WE7hed 40 2ol
0] &= v o] £2.29

‘1km/A], ¥ie] £ (5km /Al

:2km/A], B 9] &2 :5km /Al

‘1km/Al, ¥ie] &2 :3km /Al

‘1km/Al, ¥R O] &2 4km/A]

9km /A], 2] £ 10km /A



10.

ARty = f(x) oA f(x) =

Fotofet,

YEE
-

-x+5
4

2, 2% f(1) x

x f(3) 9] 3=



11.

o @ AFaro] A Aol 30km BolA Qe B A AS Gl AEA R
| 5o gkm o] £¥0 g urstglrty Gt 2u 2] v B B0
A52po} B 27 ALo]o] A 8|S ykm 21 B 1), 12 8 F9] 24ER O]
o1x] 2 Tatola},

aa:Bx]@oﬂH km Eol% 2]



12. 3x—-2y=
x, y ol vt AHEA A
s
© -7 @ -3 ® 3

@ 5 B 7




13.

9% AFET 13% 2 A8ES A4 10% 2] 285& 800g< Tt
St olH, 9% ABES FS x, 13% AFEY FSyE BT

AL = Ale-H?

x4y =800
9x + 13y = 10

x—y=2800

© 49 13 goox 10
100" " 100" * 100
x+y=23800

@ { 9 13 goox 10
100" " 100" * 700
x4y =800

®{9 13y = 800 x 2
o Ly =800 g
x—y=3800

@ { 0 13y 10
{100’“ 100 ~ % 100



T AT o] M= 2 SiE et &, 1004 x 10047
O

6x -5y =—-4 2x+ 5y =12
ax—-by=17 7 2ax + by = 2

@D 502 ® 1003 3 1004 @ 1005 ® 2008



-2

— 12 WSSty o A T

7t



16.

(a-=Dx+y=2
2ax +y=a-1

o a7t 9 o, B a o) G P



17.

Azols ATsol S ol 1L ottt oF ARl 5 714
Uro] =, 1zt 20 7H 1(3]'_1__’, 6 A Yol Z=d 12 /7 diotn
& o, Aot FHA T Qs W] A Fatelet

S EE 7



o,

Bo

Z 1000

sk o] 4y 47

ojt}. o]

sholat,

?_

A=
T=

=0
__o_|

T

o

‘B



olJ
gy
—~

Tor N

!

ot

to] AAH o2 6 Fol

S

!
NI
ol

© 4% HA

MY o= 1200 Bol, 2

[l
5
A

ozt

]

‘BO



=
=

o] A A o2 HE 100m BolF B A4 7HA] EE]7] A7)

M R

G

ol =
8o __oT M

A
=l

=2
=

o
=
AAHOR K Ae

o) T

=) stofat,

gk

&
LOT

_#OT
N



21.

A4y = 3x+4 o B3},

-5fodat,

=g
=¥

]
=

(3, -2) & Atk

A=)
1

A]
]

A

o x

]
=

il

ftlo



) o] 1ej

s
°l f(x)

(-3, 2), (1, 10)& A
_/[E

B 21

@ 15

® 8

@D 2



23 gg gt y=(1-axtbt 9 2
molck. ojul, 2a+ b 9] & Fatelet

yl\
/ ﬁ/
4
-6 o 7
5



24. = AH x+ay-

o, ab ] T

e =
c

8=0,bx+3y+3=02 wH FHx7} (-1
Tskoiet.

3)

o]



1 - -
25. Addy=—ox+47bxF y S T HS

off, ot 1€ Bl A y=ax 7} ABOA 9] YolE ©

Sh AL ¢ 2] JHL?

yl\

E y=azx

@1 ®

7Yz

=

—

&=

off
£



